R E 2R KRR ST deg: =)

SHEK GO Ae Aw Ap
INPUT MIN 90[VAC  [INPUT MAX 265[VAC EE13  17.1  22.2 0.04
OUTPUT 1 12lvbc |1 4|A EE16 19.6  33.1 0.06
Po 48w EE19 22.7  36.4 0.08
OUTPUT 2 olvbc |1 0[A EF20 41.7  30.7 0.13
Po 0w EE22 37.0  31.5 0.12
OUTPUT 3 olvbc |1 0[A EE25 40.7  60.7 0.25
Po 0w ER28  82.1 71.8  0.59
NVce 12lvbc |1 0. 005|A RMI0 98.0  45.7 0.45
Po 0. 06[W Dmax=|  0.50 E133 119.0  88.8 1.06
TAEMEEs 65|KHz UiFDmax=|  0.50 PQ2020  62.0 23.4 0.15
O\ FE A 100|uF INSU L T | 30.48 |V PQ2625 119.0  47.7 0.57
A 2200[uF MIN|OUTZIJE Hi 87 |mV |45 PQ2620  Ae= 119
IR sKCORE J: 532 A/ cm2 (3007500) Ku : 45 4H 0. 270. 5 Ku= 0.3
AP= AWxAe= (Pt*100000) / (2 A Bxfs*J*Ku) =  0.36 cmd
L6 Ih#% Pt = Po /n +Po = 108. 135 W
AB = 0.190 T IF 0 0.211 T
IR {HE R FLE W T0B - ( DCM / CCM BOUNDARY, Iifs F-#=XHL 60~ 80%. A )
ToB = 0.75 * To = 3 A
IRS KIBHCELN = [VIN(min) / (Vo + Vf)] * [Dmax / (1-Dmax) ]
VIN (min) = 96.78 V Velamp= 169 V
N= 7.62 * 1.00 = 7.62
IR SKRCCM / DCME FH IR R8s g {H Fa It A ISB.
Alsb = 2Tob / (1-Dmax) = 12.00 A
A ) AHEIREER R Ls MsUS TR Lp.
Ls =(Vo + Vf) (1-Dmax) * Ts / Alsb= 8.14 uH
Lp = n2 Ls= 0.5 mH L1k < 26 uH
L IR6 SR COMIRF I 38 VB B L A Tsp. CCMIRF J5U I ¥t A Tpp
ATsp = Io(max)/(1-Dmax)+(AISB/2) = 14.00 A
A Tpp= A lIsp/N = A
2B &z
WIR L At= 2 x 0.30
IR B A= 8 x 0.40
IR B A= 1 x 0.00
IR B A= 1 x 0.00
R WEENp. Ns (FEHLARES#Va = (Vo + VE) / Ns) ENRAEE
1> Np Np =Lp * Alpp / (AB* Ae)= 38. 42 38 T
2> Ns Ns =Np /n = 5.04 5 T
3) Nvee = (Vee + VF) / Va = 4. 88 5 T
4) Ns2 = (Vec + Vf) / Va = 0.28 1 T
LIRS K IO S HU e
i AR Do = 14 A S [n) B > 70 V
TP R e £ Vceo= 600 V le= 4 A
RCDFF AT LIS i€ : Re < 42 KQ Cc > 3699 PF
PR 7 HoL BELAF 52 = Rs = 0.44 Q OUT HJ& Lo 8 uH
JLEE AsfiE: Ls = 4.70 mH XHEE = 0.22 uF
AR B BELAff 2 - Rvce= 18164 Rgnd 4780 Q
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